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& B Fit ET 39 38 77 9.9 67.1 300
EE = - 38 43 81 13.5 67.5 200
3fi = X 43 38 81 12.6 68.4 150
Afs KA At 44 41 85 15.3 69.7 100
541 F RE 40 36 76 5.4 70.6 90
64z & BT 42 40 82 10.8 71.2
741 XA XE 38 39 77 5.4 71.6 75
811 A Bih 43 39 82 9.9 72.1
ofiz A0 #Ex 51 49 100 27.9 72.1
104iL T Bz 38 39 77 45 725 75
1143 e B 39 41 80 7.2 72.8
1241 FE Z=PUER 49 49 98 25.2 72.8
13fiz TR AF 51 51 102 28.8 73.2
1441 i EH 39 48 87 13.5 73.5
1543 Bl R 44 45 89 15.3 73.7
164 & <H%3 45 39 84 9.9 74.1
174 NS 44 42 86 11.7 74.3
1813 R #WE 39 41 80 5.4 74.6
194z BA #Bif 47 45 92 17.1 74.9
201 F OEX 43 41 84 9.0 75.0 45
21431 =% BX 44 44 88 12.6 75.4
2211 EZ =T 47 40 87 10.8 76.2
234 WZE  FRED 45 44 89 12.6 76.4
24431 af & 42 42 84 7.2 76.8
2543z ER K& 41 43 84 7.2 76.8
261iz KR B 48 45 93 16.2 76.8
271 BX E— 45 41 86 9.0 77.0
2811 B EA 44 43 87 9.0 78.0
291 BAR FH 42 45 87 9.0 78.0
301 B EA 44 44 88 9.0 79.0 45
314 2Nl fE 49 44 93 13.5 79.5
321 EN EN=ER 45 41 86 6.3 79.7
33 hiE & 43 44 87 7.2 79.8
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3441 MBE =EEHE 57 55 112 315 80.5

3541 T8 BAX 47 41 88 7.2 80.8

361 &k F5 45 43 88 7.2 80.8

371 WA E% 43 41 84 2.7 81.3

381z TR EH 49 45 94 12.6 81.4

3913 mit BX 51 45 96 14.4 81.6

40131 BE OEF 48 48 96 13.5 82.5 45
4161 hiE B 51 43 94 10.8 83.2

42431 F EfT 45 47 92 8.1 83.9

4343 faH fniE 52 50 102 18.0 84.0

44451 T FH 58 54 112 22.5 89.5

4543 A & 47 51 98 8.1 89.9

BBE wE k& 53 46 99 8.1 90.9 75
ATHI ik BA 53 49 102 9.0 93.0
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